Multiplying a Polynomial and a Monomial

1) —18z(z + 3) =

3) —llz(z + 4) =

5) —bz(z + 2) =

7) —10z(z + 4) =

9) 5(x + 2) =

11) —ldz(z + 3) =

13) 21z(z — 4y) =

15) 10z(z — 3y) =

17) 4(x + 4) =

19) 19z(z — 3y) =

21) —13z(z + 2) =

23) 12z(z — 4y) =

25) 15z(z — 3y + 6) =

27) 19z(x — 2y + 7) =

29) 1dz(z — 3y) =

@ Find each product.
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2) 3(x + 2)=

4) 15(z + 2) =

6) 8z(z — 4y) =

8) bz(x — 4y + 3) =

10) 16(z + 4) =

12) 8(z + 3) =

14) 12(x + 2) =

16) —20z(z + 4) =

18) —16z(x + 4) =

20) 17z(z — 4y) =

22) —17z(z + 3) =

24) —8z(z + 3) =

26) 15z(z — 2y) =

28) 13z(x — 2y) =

30) 5z(z — 3y) =



Answers of Multiplying a Polynomial and a Monomial

@ Find each product.

1) —18z(z + 3) = — 1822 + 54z 2) 3(z +2)=3z + 6

3) —1lz(z + 4) = — 1122 + 44z 4) 15(z + 2) =15z + 30

5 —5z(z + 2) = — 5z + 10z 6) 8z(z — 4y) =8z? — 32zy

7) —10z(z + 4) = — 10z® + 40z 8) 6z(z — 4y + 3) =6z — 24zy + 18z
9) 5(z + 2) =5z + 10 10) 16(z + 4) =16z + 64

11) —14z(z + 3) = — 142* + 42z 12) 8(x + 3) =8z + 24

13) 21z(z — 4y) = 212? — 84zy 14) 12(z + 2) =12z + 24

15) 10z(z — 3y) = 1022 — 30zy 16) —20z(z + 4) = — 20z% + 80z
17) 4(z + 4) =4z + 16 18) —15z(¢ + 4) = — 152> + 60z
19) 19z(z — 3y) = 1922 — 57zy 20) 17z(z — 4y) = 1722 — 68zy
21) —13z(z + 2) = — 132% + 262 22) —17z(z + 3) = — 172% + 5lz
23) 12z(z — 4y) = 122> — 48zy 24) —8z(x + 3) = —8z% + 24z

25) 15z(xz — 3y + 6) = 1522 — 452y + 90z 26) 15z(z — 2y) = 1522 — 302y

27) 19z(z — 2y + 7) = 1922 — 38zy + 133z 28) 13z(z — 2y) = 132> — 262y

29) 14z(z — 3y) = 14a* — 42zy 30) 5z(z — 3y) =b5z> — 15xzy



